Available online at http://scik.org J. Math. Comput. Sci. 4 (2014), No. 4, 705-715 ISSN: 1927-5307

A FIXED POINT APPROACH TO THE HYPERSTABILITY OF DRYGAS FUNCTIONAL EQUATION IN METRIC SPACES

MOHAMED SIROUNI*, SAMIR KABBAJ

Faculty of Sciences, Department of Mathematics, Ibn Tofail University, Kenitra, Morocco

Abstract. Piszczek and Szczawińska proved the hyperstability of the Drygas functional equation in Banach spaces. Using the fixed point method, we prove the hyperstability of the Drygas functional equation f(x+y) + f(x-y) = 2f(x) + f(y) + f(-y), in the class of functions from a commutative group into a commutative complete metric group.

Keywords: Drygas functional equation; hyperstability; fixed point theory; complete metric space.

2010 AMS Subject Classification: 39B52, 39B82, 39B72.

1. Introduction and preliminaries

In 1940, Ulam [32] gave a talk before the Mathematics Club of the University of Wisconsin in which proposed the following stability problem, well-known as Ulam stability problem.

Let G_1 be a group and let G_2 be a metric group with the metric $d(\cdot, \cdot)$. Given $\varepsilon > 0$, does there exist a $\delta > 0$ such that if a mapping $h: G_1 \to G_2$ satisfies the inequality $d(h(xy), h(x)h(y)) < \delta$ for all $x, y \in G_1$ then there is a homomorphism $H: G_1 \to G_2$ with $d(h(x), H(x)) < \varepsilon$ for all $x \in G_1$?

In 1941, Hyers [14] gave a first affirmative answer to the question of Ulam for Banach spaces. Hyers' theorem was generalized by Aoki [3] for additive mappings and by Rassias [25] for

^{*}Corresponding author

Received May 30, 2011

linear mappings by considering an unbounded Cauchy difference. Găvruta [13] provided a further generalization of the Rassias' theorem by using a general control function.

The functional equation

$$f(x+y) + f(x-y) = 2f(x) + 2f(y)$$
(1.1)

is called the quadratic functional equation. Quadratic functional equation where used to characterize inner product spaces [1,2,15]. In particular every solution of the quadratic functional equation is said to be quadratic function. It is well known that a function f between real vector spaces is quadratic if and only if there exists a unique symmetric bi-additive function B such that f(x) = B(x,x) for all x (see [1,17]). The bi-additive mapping is given by

$$B(x,y) = \frac{1}{4} \left[f(x+y) - f(x-y) \right].$$

The generalized Hyers-Ulam stability problem for the above quadratic functional equation was proved by Skof [31] for mapping $f : X \to Y$, where X is a normed space and Y is a Banach space. Cholewa [8] noticed that the theorem of Skof is still true if relevant domain X is replaced by an abelian group. In [9], Czerwik proved the generalized Hyers-Ulam of the quadratic functional equation as above. Grabiec [11] has generalized these results mentioned above. Several functional equations have been investigated in [7,20-23,26-30].

Drygas [10] obtained a Jordan and von Neumann type characterization theorem for quasiinner product spaces. In Drygas's characterization of quasi-inner product spaces the functional equation

$$f(x) + f(y) = f(x - y) + 2\left(f(\frac{x + y}{2}) - \frac{x - y}{2})\right)$$

played an important role. If we replace y by -y in the above functional equation and add the resulting equation to the above equation, then we obtain the Drygas equation

$$f(x+y) + f(x-y) = 2f(x) + f(y) + f(-y).$$
(1.2)

The Drygas functional equation (1.2) on an arbitrary group G takes the form

$$f(xy) + f(xy^{-1}) - 2f(x) - f(y) - f(y^{-1}) = 0,$$

for all $x, y \in G$. The stability of the equation (1.2) was studied in [16] and [33].

In 2001, Maksa and Páles [19] proved a new type of stability of a class of linear functional equation

$$f(x) + f(y) = \frac{1}{n} \sum_{i=1}^{n} f(x\varphi_i(y)), \qquad (1.3)$$

where *f* is a real-valued mapping defined on a semigroup (S, .) and where $\varphi_1, ..., \varphi_n : S \to S$ are pairwise distinct automorphisme of *S*. More precisely, they proved that if the error bound for the difference of the two sides of (1.3) satisfies a certain asymptotic property then, in fact, the two sides have to be equal to each other. Such a phenomenon is called the hyperstability of the functional equation on *S*. Further, Brzdęk and Ciepliński in their paper [5] introduce the following definition, which describes the main ideas of such hyperstability notion for equations in several variables.

Definition 1.2. Let *X* be a nonempty set, (Y,d) be a metric space, $\varepsilon \in \mathbb{R}_0^{X^n}$ and \mathscr{F}_1 , \mathscr{F}_2 be operators mapping from a nonempty set $\mathscr{D} \subset Y^X$ into Y^{X^n} . We say that the operator equation

$$\mathscr{F}_1 \varphi(x_1, \dots, x_n) = \mathscr{F}_2 \varphi(x_1, \dots, x_n), \quad x_1, \dots, x_n \in X$$
(1.4)

is ε -hyperstable provided every $\varphi_0 \in \mathscr{D}$ satisfies the inequality

$$d\left(\mathscr{F}_{1}\varphi_{0}(x_{1},\ldots,x_{n}),\mathscr{F}_{2}\varphi_{0}(x_{1},\ldots,x_{n})\right) \leq \varepsilon(x_{1},\ldots,x_{n}), \quad x_{1},\ldots,x_{n} \in X$$
(1.5)

fulfills equation (1.4).

In [4], Brzdęk proved the hyperstability of the Cauchy functional equation by an idea based on a fixed point theorem for functional equations obtained by Brzdek *et al.* in [6]. Gselmann [12] investigated the hyperstability of parametric fundamental equation of information. Piszczek in [24] proved the hyperstability of the general linear equation. In 2013, Piszczek and Szczawińska in [18] studied the hyperstability of the Drygas equation (1.2) in Banach spaces.

In this paper, using the fixed point method based on a fixed point result ([6]; Theorem 1), we prove the hyperstability of the Drygas functional equation (1.2) in the class of functions from a commutative group to commutative complete metric group.

Throughout this paper, \mathbb{N} denote the set of all non-negative integers, \mathbb{N}_+ denote the set of all positive integers, \mathbb{N}_{n_0} denote the set of all integers greater than or equal to $n_0 \in \mathbb{N}_+$. By \mathbb{R}_0 and

 \mathbb{R}_+ we will denote the set of all non-negative reals and the set of all positive reals, respectively. A^B denote the family of all functions from a set $B \neq \emptyset$ to a set $A \neq \emptyset$).

Before proceeding to the main results, we will state the following theorem (Theorem (1.3)) which is useful to our purpose.

Theorem 1.3. [6] Let X be a nonempty set, (Y,d) a complete metric space, $f_1, \ldots, f_s : X \to X$ and $L_1, \ldots, L_s : X \to \mathbb{R}_0$ be given maps. Let $\Lambda : \mathbb{R}_0^X \to \mathbb{R}_0^X$ be a linear operator defined by

$$\Lambda \delta(x) := \sum_{i=1}^{s} L_i(x) \delta(f_i(x)), \qquad (1.6)$$

for $\delta \in \mathbb{R}^X_0$ and $x \in X$. If $\mathscr{T} : Y^X \to Y^X$ is an operator satisfying the inequality

$$d\left(\mathscr{T}\xi(x),\mathscr{T}\mu(x)\right) \leq \sum_{i=1}^{s} L_i(x)d\left(\xi(f_i(x)),\mu(f_i(x))\right), \quad \xi, \mu \in Y^X, x \in X,$$
(1.7)

and the functions $\varepsilon : X \to \mathbb{R}_0$ and $\varphi : X \to Y$ are such that

$$d\left(\mathscr{T}\boldsymbol{\varphi}(x),\boldsymbol{\varphi}(x)\right) \le \boldsymbol{\varepsilon}(x), \quad x \in X, \tag{1.8}$$

$$\boldsymbol{\varepsilon}^*(x) := \sum_{k=1}^{\infty} \Lambda^k \boldsymbol{\varepsilon}(x) < \infty, \quad x \in X,$$
(1.9)

then, for every $x \in X$, the limit

$$\Psi(x) := \lim_{n \to \infty} \mathscr{T}^n \varphi(x), \tag{1.10}$$

exists and the function $\psi \in Y^X$ so defined is a unique fixed point of \mathscr{T} , with

$$d(\varphi(x), \psi(x)) \le \varepsilon^*(x), \quad x \in X.$$
(1.11)

2. Hyperstability of (1.2)

Given a group (X, +), we denote by Aut(X) the family of all automorphisms of X. Moreover, for each $u \in X^X$ we write ux := u(x) for $x \in X$ and we define u' by u'x := x - ux. The following theorem is a result concerning the hyperstability of equation (1.2).

Theorem 2.1. Let (X, +) and (Y, +) be commutative groups, d be a complete metric in Y that is invariant (i.e., d(x+z, y+z) = d(x, y) for $x, y, z \in X$), $\varepsilon : (X \setminus \{0\})^2 \to \mathbb{R}_+$, and

$$l(X) := \left\{ u \in Aut(X) : u' \in Aut(X), 2\lambda(u') + \lambda(u) + \lambda(-u) + \lambda(-2u) < 1 \right\} \neq \emptyset, \qquad (2.1)$$

where

$$\lambda(u) := \inf \left\{ t \in \mathbb{R}_+ : \varepsilon(ux, uy) \le t \varepsilon(x, y), \forall x, y \in X \setminus \{0\} \right\},$$
(2.2)

for $u \in Aut(X)$. Assume that there exists a nonempty subset $\mathcal{U} \subset l(X)$ such that

$$u \circ v = v \circ u, \tag{2.3}$$

for all $u, v \in \mathcal{U}$, and

$$\inf \left\{ \varepsilon(u'x, ux) : u \in \mathscr{U} \right\} = 0 \quad \forall x \in X \setminus \{0\},$$

$$\sup \left\{ 2\lambda(u') + \lambda(u) + \lambda(-u) + \lambda(-2u) : u \in \mathscr{U} \right\} < 1.$$
(2.4)

Then every function $f: X \rightarrow Y$ satisfying the inequality

$$d(f(x+y), 2f(x) + f(y) + f(-y) - f(x-y)) \le \varepsilon(x, y),$$
(2.5)

for all $x, y \in X \setminus \{0\}$ *, satisfies the Drygas functional equation on* $X \setminus \{0\}$ *.*

Proof. Let us fix $u \in \mathcal{U} \subset l(X)$. Replacing x with u'x and y with ux in (2.5), we get

$$d\left(f(x), 2f(u'x) + f(ux) + f(-ux) - f(-2ux)\right) \le \varepsilon(u'x, ux) =: \varepsilon_u(x)$$
(2.6)

for all $x \in X \setminus \{0\}$. We define the operators $\mathscr{T}_u : Y^X \to Y^X$, $\Lambda_u : \mathbb{R}^X_+ \to \mathbb{R}^X_+$ by

$$\mathscr{T}_{u}\xi(x) := 2\xi(u'x) + \xi(ux) + \xi(-ux) - \xi(-2ux), \qquad (2.7)$$

$$\Lambda_u \delta(x) := 2\delta(u'x) + \delta(ux) + \delta(-ux) + \delta(-2ux), \qquad (2.8)$$

for all $x \in X, \, \xi \in Y^X$ and $\delta \in \mathbb{R}^X_+$. Then (2.6) becomes

$$d(f(x),\mathscr{T}_{u}f(x)) \le \varepsilon_{u}(x), \tag{2.9}$$

for all $x \in X \setminus \{0\}$. The operator $\Lambda_u : \mathbb{R}^X_+ \to \mathbb{R}^X_+$ has the form given by (1.6) with s = 4 and $f_1(x) = u'x$, $f_2(x) = ux$, $f_3(x) = -ux$, $f_4(x) = -2ux$, $L_1(x) = 2$, $L_2(x) = L_3(x) = L_4(x) = 1$, for

all $x \in X$. Further, we have

$$d\left(\mathscr{T}_{u}\xi(x),\mathscr{T}_{u}\mu(x)\right) = d\left(2\xi(u'x) + \xi(ux) + \xi(-ux) - \xi(-2ux), \\ 2\mu(u'x) + \mu(ux) + \mu(-ux) - \mu(-2ux)\right), \\ \leq 2d\left(\xi(u'x), \mu(u'x)\right) + d\left(\xi(ux), \mu(ux)\right) \\ + d\left(\xi(-ux), \mu(-ux)\right) + d\left(\xi(-2ux), \mu(-2ux)\right) \\ = \sum_{i=1}^{4} L_{i}(x)d\left(\xi(f_{i}(x)), \mu(f_{i}(x))\right)$$

for all $x \in X$ and $\xi, \mu \in Y^X$. As $u \in \mathcal{U}$, we have

$$\begin{split} \varepsilon^*(x) &:= \sum_{k=0}^{\infty} \Lambda_u^k \varepsilon_u(x) \\ &\leq \varepsilon(u'x, ux) \sum_{k=0}^{\infty} \left(2\lambda(u') + \lambda(u) + \lambda(-u) + \lambda(-2u) \right)^k \\ &= \frac{\varepsilon(u'x, ux)}{1 - 2\lambda(u') - \lambda(u) - \lambda(-u) - \lambda(-2u)} \\ &< \infty, \end{split}$$

for all $x \in X \setminus \{0\}$. Now, using the Theorem 1.3, there exists a unique solution $F_u : X \setminus \{0\} \to Y$ of the equation

$$F_{u}(x) = 2F_{u}(u'x) + F_{u}(u) + F_{u}(-ux) - F_{u}((-2ux)),$$

for all $x \in X \setminus \{0\}$, which is a fixed point of \mathcal{T}_u , such that

$$d(F_u(x), f(x)) \leq \frac{\varepsilon(u'x, ux)}{1 - 2\lambda(u') - \lambda(u) - \lambda(-u) - \lambda(-2u)},$$

for all $x \in X \setminus \{0\}$. Moreover

$$F_u(x) = \lim_{k \to \infty} \mathscr{T}_u^k f(x),$$

for all $x \in X \setminus \{0\}$. To prove that F_u satisfies the Drygas functional equation (1.2) on $X \setminus \{0\}$, just prove the following inequality

$$d\left(\mathscr{T}^{n}f(x+y),2\mathscr{T}^{n}f(x)+\mathscr{T}^{n}f(y)-\mathscr{T}^{n}f(-y)-\mathscr{T}^{n}f(x-y)\right)$$

$$\leq \varepsilon(x,y)\left(2\lambda(u')+\lambda(u)+\lambda(-u)+\lambda(-2u)\right)^{n}.$$
(2.10)

for all $x, y \in X \setminus \{0\}$, and $n \in \mathbb{N}$.

710

Indeed, if n = 0 then (2.10) simply becomes (2.5). So, take $n \in \mathbb{N}_+$ and suppose that (2.10) holds for $n \in \mathbb{N}_+$ and $x, y \in X \setminus \{0\}$. Then, by using (2.7) and the triangle inequality, we have

$$\begin{split} d\left(\mathscr{T}^{n+1}f(x+y),2\mathscr{T}^{n+1}f(x)+\mathscr{T}^{n+1}f(y)-\mathscr{T}^{n+1}f(-y)-\mathscr{T}^{n+1}f(x-y)\right)\\ &= d\left(2\mathscr{T}^n f(u'x+u'y)+\mathscr{T}^n f(ux+uy)+\mathscr{T}^n f(-ux-uy)-\mathscr{T}^n f(-2ux-2uy),\right.\\ &\quad 4\mathscr{T}^n f(u'x)+2\mathscr{T}^n f(ux)+2\mathscr{T}^n f(-ux)-2\mathscr{T}^n f(-2ux)\\ &\quad +2\mathscr{T}^n f(u'y)+\mathscr{T}^n f(uy)+\mathscr{T}^n f(-uy)-\mathscr{T}^n f(-2uy)\\ &\quad +2\mathscr{T}^n f(-u'y)+\mathscr{T}^n f(-uy)+\mathscr{T}^n f(uy)-\mathscr{T}^n f(-ux+uy)+\mathscr{T}^n f(-2ux+2uy)\right)\\ &\leq d\left(\mathscr{T}^n f(u'x+u'y)-\mathscr{T}^n f(u'x)+\mathscr{T}^n f(u'y)-\mathscr{T}^n f(-u'y)-\mathscr{T}^n f(u'x-u'y)\right)\\ &\quad +d\left(\mathscr{T}^n f(ux+uy),2\mathscr{T}^n f(ux)+\mathscr{T}^n f(uy)-\mathscr{T}^n f(-uy)-\mathscr{T}^n f(ux-uy)\right)\\ &\quad +d\left(\mathscr{T}^n f(-2ux-2uy),2\mathscr{T}^n f(-2ux)+\mathscr{T}^n f(-2uy)-\mathscr{T}^n f(-2ux+2uy)\right)\\ &\leq \left(2\varepsilon(u'x,u'y)+\varepsilon(ux,uy)+\varepsilon(-ux,-uy)+\varepsilon(-2ux,-2uy)\right)\\ &\quad \times \left(2\lambda(u')+\lambda(u)+\lambda(-u)+\lambda(-2u)\right)^n\\ &\leq \varepsilon(x,y)\left(2\lambda(u')+\lambda(u)+\lambda(-u)+\lambda(-2u)\right)^n\\ &= \varepsilon(x,y)\left(2\lambda(u')+\lambda(u)+\lambda(-u)+\lambda(-2u)\right)^{n+1}. \end{split}$$

By induction, we have shown that (2.10) holds for all $x, y \in X \setminus \{0\}$. Letting $n \to \infty$ in (2.10), we get

$$F_u(x+y) + F_u(x-y) = 2F_u(x) + F_u(y) + F_u(-y)$$
(2.12)

for all $x, y \in X \setminus \{0\}$. Thus, we have proved that for every $u \in \mathcal{U}$ there exists a function $F_u : X \to Y$ solution of the functional equation (1.2) on $X \setminus \{0\}$, and

$$d(f(x), F_u(x)) \leq \frac{\varepsilon(u'x, ux)}{1 - 2\lambda(u') - \lambda(u) - \lambda(-u) - \lambda(-2u)}$$

for all $x \in X \setminus \{0\}$. Thus

$$d(f(x), F_u(x)) \leq \inf_{u \in \mathscr{U}} \left\{ \frac{\varepsilon(u'x, ux)}{1 - 2\lambda(u') - \lambda(u) - \lambda(-u) - \lambda(-2u)} \right\}$$
$$\leq \frac{\inf_{u \in \mathscr{U}} \varepsilon(u'x, ux)}{1 - 2\lambda(u') + \lambda(u) + \lambda(-u) + \lambda(-2u)}$$
$$= 0,$$

for all $x \in X \setminus \{0\}$, this means that $F_u(x) = f(x)$ for all $x \in X \setminus \{0\}$, hence

$$f(x+y) + f(x-y) = 2f(x) + f(y) + f(-y).$$

for all $x \in X \setminus \{0\}$, which implies that *f* satisfies the Drygas functional equation on $X \setminus \{0\}$.

The next corollary is an immediate consequence of Theorem 2.1.

Corollary 2.2. Let *E* and *F* be a normed space and a Banach space, respectively. Assume that *X* is a subgroup of the group (E, +), p < 0, q < 0 and $c \ge 0$. If $f : X \to F$ satisfies

$$\|f(x+y) + f(x-y) - 2f(x) - f(y) - f(-y)\| \le c \left(\|x\|^p + \|y\|^q\right),$$
(2.13)

for all $x, y \in X \setminus \{0\}$, then f satisfies the Drygas equation on $X \setminus \{0\}$.

Proof. The proof follows from Theorem 2.1 by taking

$$\boldsymbol{\varepsilon}(x,y) = c\left(\|x\|^p + \|y\|^q\right), \quad x, y \in X \setminus \{0\},$$

with some real $p < 0, q < 0, c \ge 0$, and

$$d(x,y) = \|x - y\|,$$

$$u_m(x) := u_m x := u(x) = -mx, \quad u'_m(x) := u'_m x := u'(x) = (1+m)x \quad m \in \mathbb{N}.$$

So it easily seen that conditions (2.4) are fulfilled with

$$\mathscr{U} := \{u_m \in Aut \ X : m \in \mathbb{N}_{n_0}\}.$$

712

Indeed,

$$\varepsilon(u_m x, u_k y) = \varepsilon(-mx, -ky)$$

$$= c \left(\|-mx\|^p + \|-ky\|^q \right)$$

$$= c |m|^p \|x\|^p + c |k|^q \|y\|^q$$

$$\leq \left(|m|^p + |k|^q \right) c \left(\|x\|^p + \|y\|^q \right)$$

$$= \left(|m|^p + |k|^q \right) \varepsilon(x, y)$$

for every $x, y \in X \setminus \{0\}, k, m \in \mathbb{N}_+$. Hence

$$\lim_{m \to \infty} \varepsilon(u_m x, u'_m y) \le \lim_{m \to \infty} (m^p + (1+m)^p) \varepsilon(x, y)$$
$$= 0,$$

for all $x, y \in X \setminus \{0\}$, and there exists $n_0 \in \mathbb{N}_+$ such that

$$2\lambda(u'_m) + \lambda(u_m) + \lambda(-u_m) + \lambda(-2u_m) < 1 \quad m \in \mathbb{N}_{n_0}.$$

Therefore, by Theorem 2.1 every $f: X \to Y$ satisfying (2.13) is solution of Drygas equation on $X \setminus \{0\}$.

Conflict of Interests

The authors declare that there is no conflict of interests.

REFERENCES

- J. Aczél and J. Dhombres, Functional Equations in Several Variables, Encyclopedia of Mathematics and its Applications, 1989.
- [2] D. Amir, Characterizations of inner product spaces, Birkhuser, Basel, 1986.
- [3] T. Aoki, On the stability of the linear transformation in Banach spaces, J. Math. Soc. Japan 2 (1950), 64–66.
- [4] J. Brzdęk. Hyperstability of the cauchy equation on restricted domains, Acta Mathematica, Hungarica, 2013.
- [5] J. Brzdęk and K. Ciepliński, Hyperstability and superstability, Abst. Appl. Anal. 2013 (2013), Article ID 401756.
- [6] J. Brzdęk, J. Chudziak and Z. Páles, A fixed point approach to stability of functional equations, Nonlinear Anal. 74 (2011), 6728–6732.
- [7] A. Charifi, B. Bouikhalene, S. Kabbaj, J.M. Rassias, On the stability of a pexiderized Golab-Schinzel equation, Comput. Math. Appl. 59 (2010), 3193–32.

- [8] P.W. Cholewa, Remarks on the stability of functional equations, Aequationes Math. 27 (1984), 76–86.
- [9] S. Czerwik, On the stability of the quadratic mapping in normed spaces, Abhandlungen aus dem Mathematischen Seminar der Universitt Hamburg, 62 (1992), 56–64.
- [10] H. Drygas, Quasi-inner products and their applications, Advances in Multivariate Statistical Analysis (ed. A. K. Gupta), Reidel Publ. Co., pages 13–30, 1987.
- [11] A. Grabiec, The generalized Hyers-Ulam stability of a class of functional equations, Publ. Math. Debrecen 48 (1996), 217–235.
- [12] E. Gselmann, Hyperstability of a functional equation, Acta Math. Hungar. 124 (2009), 179–188.
- [13] P. Găvruta, A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl. 184 (1994), 431–436.
- [14] D.H. Hyers, On the stability of the linear functional equation, Proc. Natl. Acad. Sci. USA 27 (1941), 222–224.
- [15] P. Jordan and J.von Neumann, On inner products in linear metric spaces, Ann. Math. 36 (1935), 719–723.
- [16] S.-M. Jung and P.K. Sahoo. Stability of a functional equation of Drygas, Aequationes Mathe. 64 (2002), 263C273.
- [17] P. Kannappan, Quadratic functional equation and inner product spaces, Results Math. 27 (1995), 368–372.
- [18] M. Piszczek and J. Szczawińska, Hyperstability of the Drygas functional equation, J. Funct. Spaces Appl. 2013 (2013), Article ID 912718.
- [19] G. Maksa and Z. Páles, Hyperstability of a class of linear functional equation, Acta Mathematica Academiae Paedagogicae Nyíregyháziensis 17 (2001), 107–112.
- [20] C. Park, Fixed points and Hyers-Ulam-Rassias stability of Cauchy-Jensen functional equations in Banach algebras, Fixed Point Theory Appl. 2007 (2007), Article ID 50175.
- [21] C. Park, Generalized Hyers-Ulam stability of quadratic functional equations: A fixed point approach, Fixed Point Theory Appl. 2008 (2008), Article ID 493751.
- [22] C. Park and J. Cui, Generalized stability of C*-ternary quadratic mappings, Abst. Appl. Anal. 2007 (2007), Article ID 23282.
- [23] C. Park and J. Park, Generalized Hyers-Ulam stability of an Euler-Lagrange type additive mapping, J. Difference Equ. Appl. 12 (2006), 1277–1288.
- [24] M. Piszczek, Remark on hyperstability of the general linear equation, Aequationes Mathematicae, 2013.
- [25] Th.M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc. 72 (1978), 297–300.
- [26] Th.M. Rassias, On the stability of the quadratic functional equation and its applications, Studia Universitatis Babeş-Bolyai Mathematica, 43 (1998), 89–124.
- [27] Th.M. Rassias, On the stability of functional equations in Banach spaces, J. Math. Anal. Appl. 251 (2000), 264–284.

- [28] Th.M. Rassias, The problem of S.M. Ulam for approximately multiplicative mappings, J. Math. Anal. Appl. 246 (2000), 352–378.
- [29] Th.M. Rassias and P. Šemrl, On the Hyers-Ulam stability of linear mappings, J. Math. Anal. Appl. 173 (1993), 325–338.
- [30] Th.M. Rassias and K. Shibata, Variational problem of some quadratic functionals in complex analysis, J. Math. Anal. Appl. 228 (1998), 234–253.
- [31] F. Skof, Local properties and approximation of operators, Rendiconti del Seminario Matematico e Fisico di Milano, 53 (1983), 113–129.
- [32] S.M. Ulam, A collection of the mathematical problems, Interscience Tracts in Pure and Applied Mathematics No. 8, Intersciece Publishers, NY, USA, 1960.
- [33] D. Yang, Remarks on the stability of Drygas equation and the pexider-quadratic equation, Aequationes Math. 68 (2004), 108–116.